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PROGRAMMING IN JAVA

frutia o0 . 7 =) (3ftreham 31 : 70
Time allowed : Three Hours] [Maximum Marks : 70

Pz () TR SFEE 8, 994 8 feel ar & IR A |
Note : Question No. 1 is compulsory, answer any FOUR questions from the remaining.
(i) TH I F T U F) FAAR T G & B |
Solve all parts of a question consecutively together.
(iii) V% ¥3T B T 8 G IR Bl |
Start each question on fresh page.
(iv) @l wraTai 7 3 87 1 1R 4 3 srgare & A E |
Only English version is valid in case of difference in both the languages.

1. (1) IR FB-BH G IR THAE ?

(@) e (b) e

(c) TR (@) 90w Tt

Variable can be which of these data types ?

(a) Boolean (b) Float

(c) Integer (d) All of the mentioned
) 7 7 & 2 a1 s o Afeeer A 3 e v T fon S Ewar 2

(a) T AW (b) AFERHRH

(c) Twadu d) FgsRwrr 3R frada

Which of these cannot be used for a variable name in Java ?

(a) class name (b) identifier .

(¢) keyword (d) identifier & keyword
(3) T A @ w v R 1 3R R 7

(a) "BTEIT302" (b) "BTEwWIT302"

(¢) ""BTE IT302\" (@) 3w T

Which of these is an incorrect string datatype 7

(a) "BTEIT302" (b) "BTEWIT302"

(¢) "\"BTE IT302\" (d) all of the mentioned

(1 0f8) P.T.O.



1T302

(2 of 8) 340

0 fﬁnmﬁh*ﬁqﬁmﬁ@mﬁhmuﬁnhm% ?

(a) isequal() (b) isequals()

(c) equal( (d) equals()

Which of these method of String class can be used to test to strings for equality ?

(a) isequal() (b) isequals()

(¢) equal() (d) equals()

For=t e s =1 Fla s a2

)

©)

Q)

@®

Classstring_class {

Publicstaticvoid main(Stringargs(]){
Stringobj="1 LoveProgramming”;
System.out.printIn(obj.length());

H}

(a) 16 by 17

(c) 18 @ 19

What will be the output of the following Java program ?

Classstring class {

Publicstaticvoid main(Stringargs([]) {
Stringobj="1 LoveProgramming”;
System.out.println(obj.length()):

}}

@ 16 ® 17

(c) 18 @ 19

Eic) gra festga e 2 |

(a) wEsH fren (b) IiiETE

(c) WEHER (d) T

Java is design by

(a) Sunmicro systems (b) Oracles

(c¢) Microsoft (d) Apple

Sira SN ST T YEel A = 91 ?

(@ B (b) Oak

(c) Javat+ (d C++

What was the earlier name of Java Programming language ?

(a) B (b) Oak

(c) Javat+ (d C++

o 3 & s sanfii s ¥ 8 W G AHE % 9e And B @ 7
(@) jar (b) java

(c) .class (d) .obj

Which of the following file is human readable in Java programming language ?
(@ jar (b) Jjava

(c) .class (d) .obj
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(10)

(11)

(12)

(3 0f8) 340

ST ST B ] SR HHE W 8 7
(a) JRE (S @ gaaii=) (b) JDK (S Saeudee)
(c) HHEA @ JVM

What software runs a Java program on a computer ?
(@ JRE (Java Runtime Environment)

(b) JDK (Java Developer Kit)

(¢) Command Prompt

(d JVM

o= e s & ffa s/ B 2

class increment {

publicstaticvoid main (Stringargs(]) {

int g = 3;

system.out.print (++g*8):}}
(@) 25 (b) 24
() 32 d 33

What will be the output of the following Java program ?
class increment {
publicstaticvoid main (Stringargsi]) {

int g = 3;
system.out.print (++g*8):}}
(@ 25 (b) 24
) 32 @ 33
JVM 1 Haeid &
() ST SEIE T (b) STraT SE3A A
(c) il T Auit (@) <rar g Wi
JVM stands for
(a) Java virtual management  (b) Java virtual mechanism
(¢) Java virtual memory (d) Java virtual machine
fot 3 @ B 1 hiaE G o S B w0 AR 7
@ @ b) *
© =@ @ =%
Which of these keywords ae used for examined for exceptions ?
(@) try (b) catch
(c) throw (d) check
(13) Foer i & i @ S § OOPs H1 HIAE T 8 7
(@) s (b) et
() THHATA () FEEA
Which of the following is not OOPs concept in Java ?
(a) Inheritance (b) Polymorphism
(c) Encapsulation (d) Compilation

P.T.O.
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mmﬁﬁﬁﬁ@mmwﬁﬁmm%mﬂamé ?
(a) T (b) itemiE
©) TN (d) TSHGHH

Which concept of JAVA is achieved by combining methods and attribute into a
class ?

(a) Encapsulation (b) Polymorphism

(¢) Inheritance (d) Abstraction

= 3 2 B w1 Eron T 2 2

(a) intarr [] =new int [5] (b) int []arr = new int {5]
(c) int[] arr = int [5] new (d) intarr []=int [5] new
Which of these is an incorrect array declaration ?

(a) intarr [| =new int [5] (b) int [] arr = new int [5]
(c) int[]arr=int [5] new (d) intarr [} = int [5] new

(16) B § | S -a | A fEhT & WER R ?

(17)

(a) g Ui (b) 9= ETRE

(© 9z 3T suia (d) IrH A A HIE A
Which of these are types of multitasking ?

(@) Process based (b) Thread based
(¢) Thread & process based (@) None of the mentioned
JDBC % @it #f w9 2

(a) JDBC W API 2 st frsema Jifeae ! el |
(b) IDBC % HaeT Al 3T S |

(©) JDBC % API 2 i1 frdiret Sorde &1 St e @ |
(d) JDBC W& API 2 3 XML 221 &t Sisal € |

Which statements about JDBC are true ?

(a) JDBC is an API to connect to relational object

(b) IDBC stands for Java DataBase Connectivity

(c) JDBC isan API to access relational database
(d) JDBC is an API to connect to XML data

(18) 9 3t S T o fru 3 class 7 A a2 e e A AR 2 7

(a) java.util (b) java.lang

(¢) javaio (d) I aefl

Which of these packages contain classes used for input & output operation of a
program ? _

(a) java.util (b) javalong

(c) javaio (d) all of the mentioned
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(19) ﬁqmiammm%mmwmmwamwz ?
(a T (b) T
© TFREH @ &=

Which of these classes is not related to input and output stream in terms of
functioning ? :

(a) Add N (b) Write
(c) Input stream (d) Reader
(20) Bvad Fw aerE i 37Ye 3N mﬁmﬁmmlﬁﬂ@?ﬁ% ?
(@ 2 b) 3
(c) 4 @ s

Standard streams classes provides how many standard streams representing the
input and output devices ?

(a 2 ) 3

(c) 4 @ 5
@1) P s dsEd e Fong H R adi 2 ?
(@ Run() (b) Sqrt)
(c) Join() (d) Start()
Which is not method of thread class in JAVA.
(@) Run( (b) Sqrt)
(¢) Join() (d) Start()
(22) T yam 1 ARTEA srora Pty i e oot % Sicra S Bia @ 7
(a) wiees
(b) ufers
(c) Wed

23)

(24)

@ =i 3f faftrd =t o IMESAGTL % AT Hifvd 4 HET |

Which type of variable or method can only be used within current package ?
(a) Protected

(b) Public

(c) Friends

(d) Don’tdeclare variable or method with any identifier
qa; aa;a’ W % -

(@ w@E (b) TTHE

(c) ST A @) IRSTADETE
A package is collection of

(a) Class (b) Interface

(c) Bothofthese (d) None of these
By F R N T T FEAEE T R 7

(a) WeH (b) ufeTh

(©) WIEae @ %

Which of the following is not a access identifiers ?

(a) Friends (b) Public

(¢) Private (d) Void

P.T.O.
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(25)

(26)

27

(28)

(60f8)

arr[2] 1 e 1 @ Wb arr = {7,2,1,3} 8 ?

(@ 3 () 1 € 2 @ 7
What is returned from arr{2] if arr = {7,2, 1,3} ?

(a) 3 (b) 1 © 2 @ 7
o wya $ g P 1 2 9 9 %Y SYE gl @ 7

(a) continue (b) exit (c) break @ do
Which of the following statement is used with the switch statement ?
(a) continue (b) exit (c) break (d do
ey T 7 abe =11 39 222ET B G1ERT ?

Switch(abc)

{ Y
System.out.printIn("JAVA");

}

(a) int 3 float (b) char 3fR float

(c) byte 3 float (d) int 3R char

What is the valid datatype for variable “abc” in the following program ?
Switch (abc)

{
System.out.printIn ("JAVA");
}

(a) intand float (b) char and float
(c) Dbyte and float (d) intand char
T e e w2 2

Public class test {
Public static wvoid main() {
int i=0, j=2;

do {
i=++1i;
=2

} while(i>0);

System.out.printIn(i);
}H}
(@ O (b 1
(c) HPUIEER T @ 2
What is the output of the following program ?

Public class test {

Public static void main() {

int i=0, j=2;

do {
i=++i;
3553

} while(j>0);
System.out.printIn(i);
}}
@ 0 - by 1
(¢) Compiler error d 2




1T302

(7 of 8)

(29) FHge g & fim 2

(30)

2. @)

(i)

(@) e | SR T (b) s TesTr SR ST

© FWiismAdaawddl (@ 3 MiemiTEiaTrds |
Encapsulation and abstraction differ as

(a) Binding and Hiding respectively

(b) Hiding and Binding respectively

(¢) Can be used any way

(d) Cannot be used any way

Sifeaae S ¥ el 4 BT e ?

© W @ W

Where is the memory allocated for the object ?
(a) Hard disk (b) Cache
() RAM (d) ROM

27¢ ® =1 whearfia i |
Define 2D array.

OOPs & &9 Farsd |
Write benefits of OOPs.

(i) T T I aiaTE AT |

(iv)

™)

Define Garbage collection.
O A A 7
What is meant by constructor ?

AT A 39 T & 7
What do you mean by package ?

3l T ¥ S S T i e wiEa aeEee |
Explain various type of operalors and expressions with example.

4. (1)

(ii)

0O0P &t faftyer TronaA I FHATEY |

Explain various concepts of OOP.

final, finalize 3 finally & 3gTewI &f&a FauHif |
Differentiate among final, finalize and finally with example.

(1x30)

(2x5)

(5+5)

(5+5)
P.T.0.
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5. (i)
(i)
6. (i)
(i1)
7. @
(i1)
8. (i)
(i)

(8 0f8)

Tufa IeET & gRT 320hE i GRsTH |
Explain Interfaces with suitable example.
FTaATEn U AausiEn 3 Ieat gr 3R i |

Differentiate between overloading and overriding with example.

STaT # GEReHe Rusfoin i Sugw See Hid awsiEd |
Explain exception handling in Java with suitable example.
3l strings HI wrg4 & foe siran # wium foifiae |

Write a Java program to concatenate two strings.

e e @t favar & awems |

Explain Java features in detail.

e gt A @ vl o g wan & forg stran # s fafa |
Write a Java program to find out largest among three numbers.

STET # file % read 37T write operation ! FHHTY |
Explain read and write files operation in Java.

35 & 7 A B 2 ISTENT o TS |

What is meant by Package ? Explain with example.

9. a&nﬁﬁmﬁﬁ-ﬁm

Write short note on :

@

(31)

S 2

Java tokens
Afgea w1 =Y
Scope of variables

@iii) .2

JDBC

(5+5)

(5+5)

(5+5)

(4+3+3)



